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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal

option.
(2) Question no. 1 M.C.Q. should be answered in the
answered book.

(3) Right side figures show the mark of the question.

1  Answer all the MCQ on the basis of internal option : 20
(1) Marginal propensitive to consume = M.P.C. = .............. ?
- <
@ 3 ® 3
Ac Ay
© % ™ -
(2) By increase in which cost, employment rate is increased ?

3)

4)

()

(A) In production cost

(B) In selling cost

(C) In consumption expenditure

(D) In marginal cost

What is total sum of marginal propensity to consume

and marginal propensity of saving ?

(A) Four B) Two
(C) Three (D) One
APC. = ... ?

(A) Total Propensity of consume
(B) Marginal propensity to consume
(C) Average propensity of consume
(D) None of the above

How many purpose are there for cash-choice, according

to Prof. Keynes ?
(A) Three (B) Four
(C) Two (D) Five
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Main trade - cycle is known for which economist ?

(A) Prof. Joseph Kichan

(B) Prof. Juglar

(C) Prof. Kondretieff

(D) Prof. Heberler

In which phase of business cycle, the production cost is less ?
(A) In the boom phase

(B) In the reforms phase

(C) In the depression phase

(D) In reflux phase

How many stages are there in a business cycle ?

(A) Four (B) Three

(C) Five D) Six

Which factors increases when demand of productivity

increases after getting perfect employment ?

(A) Marginal cost (B) Optional cost

(C) Average cost (D) Total production cost
Which of the following theories is included in the

business cycle theories ?

(A) Financial theories

(B) Psychological theories
(C) Actual theories

(D) All of the above theories

According to the Prof. Hayek all saving goes ........... ?
(A) In Bank (B) In consumer expenditure
(C) In investment (D) Luxury spending

How many types of production structure are defined by
Prof. Hayek ?

(A) Two (B) Four
(C) Three D) Six
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(13) Which of following event produces boom and bear in
economy ?

(A) The Phenomenon of population growth
(B) Trade cycle event

(C) Natural calamity event
(D) Political upheaval event

(14) What come out when both saving and capital investment
go side by side ?

(A) Unbalance (B) Inclemency
(C) Balance (D) Elasticity

(15) Which of the following policy must be implemented to
avoid recession ?

(A) Fiscal policy

(B) Monetary policy

(C) Administrative policy
(D) All above three

(16) In annual rate increase ............... %, you will call it a
‘racing inflation’ ?

(A) 1 to 3 percentage (B) 10 to 12 percentage
(C) 7 to 15 percentage (D) More than 16 percentage

(17) “Inflation is unjustice and recession is in appropriate,
but recession is worse than these two” - Who said this
sentence ?

(A) Prof. Larnar (B) Prof. Keynes
(C) Prof. Kammerer (D) Prof. Crowther

(18) How do the economists call the “Inflation” as the
economic disease of the nation ?

(A) Cancer (B) Tuberculosis
(C) Cholera (D) Diabetes
(19) What is the time duration of long-lasting inflation ?
(A) 1 to 2 years B) 10 to 12 years
(C) 5 to 15 years (D) More than 15 years

(20) Which factor increases due to inflation in economy ?
(A) Production cost (B) Income

(C) Price (D) All above three
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2 Write answer any one question :

(1) Discuss the stages of trade-cycle.

(2) Give the meaning of inflation and discuss its cause.

3 Write answer any one question :
(1) Explain the employment theory of Prof. Keynes
(2) Discuss the types of Inflation.

4 (a) Write short note : (any one)
(1) Characteristics of trade cycle

(2) Economic fluctuation

(b) Write short note : (any one)
(1) Market theory of Prof. J.B. Say
(2) Theory of Wage-cut.

5  Write short answer : (any two)
(1) Explain the trade cycle theory of Prof. Hayek.
(2) Explain the effects of Inflation
(3) Examine the limitations of Prof. Hayek's theory

(4) State the measures to control to Inflation.
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